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2P +1 = 39(26180n + 3197)

gooooooOo3ooooooobobooooobooooDoobooDOobDOobobooboOooboo
good

Q=623470000
P =510510n + 62347

2P + 1 = 2(510510n + 62347) + 1 = 1021020 + 124694 + 1 = 10210200 + 124695
0000010210200 20 2003,5,7,11,13,17000000 10000000

124695 =3 x 3 x5 x 17 x 163 x 1

oooo
2P + 1 = 255(4004n + 489)

obobobgoo2s0booooooobooboboooooooobobobobooooooo
good

Q=623510000
P = 5105101 + 62351

2P 4+ 1 = 2(510510n + 62351) + 1 = 10210201 + 124702 + 1 = 1021020n + 124703
0000010210200 20 2003,5,7,11,13,17000000 1000000
124703 = 124703 x 1
0000 10210200000000000000
2P + 1 = 510510m + 124703

goooooboobooboooobooboobooooboobboOoOoooooDon

Q=623530000
P = 510510n + 62353

2P + 1 =2(510510n + 62353) + 1 = 1021020n + 124706 + 1 = 1021020n + 124707
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0000010210200 20 2003,5,7,11,13,17000000 10000000

124707 =3 x 11 x 3779 x 1

good
2P + 1 = 33(30940n + 3779)

O0b0o0obO0oOoo33boooooooooboboooboobDo0obooboooooboOooDbOoo
good

Q=623570000
P = 510510n + 62357

2P + 1 = 2(510510n + 62357) + 1 = 10210200 + 124714 + 1 = 10210200 + 124715
0000010210200 20 2003,5,7,11,13,17000000 10000000

124715 =5 x 24943 x 1

oooo
2P + 1 = 5(204204n + 24943)

gboobobooosboboboboobob0oboboboobobOobobDobDOobobOOobOobDOoboOoo
oono

Q=623690000
P = 5105101 + 62369

2P + 1 = 2(510510n + 62369) + 1 = 10210200 + 124738 + 1 = 1021020n + 124739
0000010210200 20 2003,5,7,11,13,17000000 1000000

124739 = 124739 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 124739

goboobooobooboboobboobboobooobooo

Q=623710000
P = 510510n + 62371

2P + 1 =2(510510n + 62371) + 1 = 1021020n + 124742 + 1 = 1021020n + 124743

0000010210200 20 2003,5,7,11,13,17000000 10000000

124743 = 3 x 43 x 967 x 1

oooo
2P + 1 = 3(340340n + 41581)
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go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=623330000
P = 510510n + 62383

2P 41 = 2(510510n + 62383) + 1 = 10210201 + 124766 + 1 = 1021020n + 124767
0000010210200 20 2003,5,7,11,13,17000000 10000000

124767 =3 x 3 x 3 x 4621 x 1

good
2P + 1 = 3(340340n + 41589)

o00ob0ooO0oo30b00b0oooo0ooboobooDobobobobODobDobOoobOoDOoDOon
goo

Q=623890000
P = 510510n + 62389

2P + 1 = 2(510510n + 62389) + 1 = 10210200 + 124778 + 1 = 10210200 + 124779
0000010210200 20 2003,5,7,11,13,17000000 10000000

124779 = 3 x 41593 x 1

oooo
2P + 1 = 3(340340n + 41593)

gooooooOo3oUoboooooooboU0oOoU0bOoUbDOoUobDOoUobDbOUDbDOoOobDboUDoO
ooo

Q=623930000
P = 510510n + 62393

2P + 1 =2(510510n + 62393) + 1 = 1021020n + 124786 + 1 = 1021020n + 124787

0000010210200 20 2003,5,7,11,13,17000000 10000000

124787 =13 x 29 x 331 x 1

oooo
2P + 1 = 13(78540n + 9599)

oboobooobooooooooooboboooboooboobooboboooobOoobOoo
googd
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